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(b) 600 m

Six houses, K, L, M, N, O and P,
are located in the same colony. P
is 400 m to the west of K. M _is
200 m to the east of L. O is 300

m to the north of K. N is 150 m

to the south of L. L is 250 m to
the south of K. What is the
straight distance between O and

N?

B8 TR K, L, M, N, O 3R P U &
HicdH § Red 81 P, K @ ulR9H H
400 e 8| M, L & Ud ¥ 200 Hiex
21 0, K ® SR ¥ 300 HIex & N,
L& <SRor % 150 fick 81 L, K &
250 HieX <for ¥ 8] O IR N &

() 350 m g et o T &7



oo

‘ = ﬂ T TmlBlYlolclEIN In this- question: a group of
_ letters is coded using numbers as
Code 46 _ 0|1 _ 39|79 per the table given below and the

conditions which follow. The
correct combination of codes
following the conditions is your

answer. EIMO N

(i) If the first element is a vowel
and the last, a consonant, the
codes for these two (the first and
the last elements) are to be
interchanged.

i) If the first element is a
consonant and the last, a vowel,
the first and last elements are to

be coded as 2.




rii) If both the second and the

’]A/ \/glrth elements are vowels, the
W fourth element is to be coded as
m\tl\ the code for the third element
P/{)Jﬂﬂ and vice-veysa

Question:

9 U ¥, 3Rl @ UP GHg DI A

q g dferer SR SHD <IE|
6133(:1 aﬁﬂmﬁ$a§ﬂwﬁm:ﬁ$r
SUANT TXP BIfSd fHar Tr g wal

® Ul HRd I DIS BT A&l
HATST 3MUHT ITX 2 |

Rerfert:
letter | BILI MIHIYIO|CI|IEIN
Code % 0181011131917 19




(i) g ugem @ TH WX & 3R
Jifod ¢ oo B, o 39 <+ (UEe
IR IR T@) & B B AT H
95T ST & |

(i) If ugelmr d9 TP &9 B 3R
3foH T WX B O Usa 3R sifaw
acd ®f 2 ® ®Y H difed fear sem
ooy |

(iii) afE gExT iR AT I g &R
gl A a9 P AR O D DS
® U ¥ Pifea fear oFm 8 8k
s fauia |

Y9: LEMON

\/Aarﬁ7339 (b) 63879

(c) 97836 (d) 23872




Study the Venn  diagram
presented below and answer the
question that follows.

k Graduates
\ /0 Workers
3 Contractual
54 skilled
/6540 /g2
67 \@ 80
67

How many graduated skilled
workers are NOT contractual?



A U 99 ARG BT TG PN
IR frferRad ues &1 SR <
fha wae $Hud 9fe Hideqr w®
a8l B°

(a) 9 127

(c) 65 (d) 46



Study the given Venn diagram
and answer the question that
follows.

Residential
fﬂb\\ Institute
4}\ K
3
9 %0 13 2 |1 ——Hospitals
21110
\ 67 43

Superspeciality

How many residential super-
specialty hospitals are
institutes?



(a) 13
(c) 3

(b) 5



A certain number of people are
sitting in a row and all are facing
north. Exactly one person is
sitting between G and K. I is
sitting third to the right of J. H
is sitting to the immediate right
of G. Exactly four persons are
sitting between I and K. M is
sitting at the extreme position to
the left of K. If it is given that
there is no other person sitting
in the row, what is the total
number of people in the row?



e ARea der § & e dft #
90 § 3R w0 & @ S A AR
2] G 3R K & d9 3% s AR
ST 8| I, J & TV R ©IFH | §3T
21 H, G dId TNV 3R ST 8 I
IR K P §9 819 IR ARp 93 B |
M, K & S 3R 3ifasq e w® 8§67
8| afe ¥ e wiv & dfs & @i

¥ fh &I 991 &, o ufh #
fhal B Hol T IqT 8 7

(a) 12 (b) 13
\_ter'10 (d) 11



A, B, C, D, W, X, Y and Z are

“Sitfing around a square table

facing the centre of the table.
Some of them are sitting at the
corners, while some are sitting at
the middle of the sides. C sits
third to the left of W. C sits at
one of the corners. A does not sit
at any of the—corners.. ) ;its
second to the ri of A. A is not
an immediate neighbour of C.
Only three people sit between B
and D. B is an immediate
neighbour of Z. B does not sit at

any of the middle the sides.
% sits second {o the left of Y:



A, B,C,D, W, X, Y3IR Z T&
INHR A9 & IR 3R D5 B 3R
TG D 40 8| STH 9 §Y HI W
93 8y vafd §B yorel & w=g #A
43 1| C, wa%aﬁfaﬂ'\r'cﬂ'ﬂ%w
R 991 21 C & & & W S0
2] A fdft ff o1 W 78 d°1 B Y,
AD TN TR VMK DT EIA C
& feecar TSR T8 28I BAR D &
4 Bad A9 AT 93 §1 B, Z FI
fpeaw Tl 81 B 5l Y Hom @
dF H 8 4T 81 Y B 9¢ W T
W | $IF 93T 87

(a) B (b) C

(c) D “dT A
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| O

Pinky walled 160 m towards

north, then she turned right and
walks 240 m. Then she turned

right and walked 280 m, then
she turned left and walked 120

m. Finally, she turned left and
walked 120 m. In which direction

and how many metres is she
from the starting position?

(All turns are 90 degree turns
only)

ffer 7 STR &1 AR 160 HieX B g
T @, fr 98 <% IR g8 TE IR
240 Hiex Foit | f 98 <18 AR g
3k 280 Hiex dell, v 98 91F 3R



7ol 3R 120 HieX el | 3id H, 98
il 3R g1 3R 120 #IeR el | T8
IRfAe Refd | fdg faem 4§ &R
fae #ex o T W 27

(4 Aie dad 90 f&ift @ Aie B)
(a) West, 120 m

(b) West, 360 m

(c) East, 120 m

__ldyFast, 360 m



(a) R
(c) P

D

Six friends P, Q, R, M, N and O
prepared together for a class test
and each one scored different
marks. Only 3 friends scored less
marks than R. N scored less
marks than only 1 friend. Only O
scored marks petween the marks
of P and M. who scored the
highest marks?

BE AT P,Q, R, M, N3dR 0 A &
T BET TG B TIART DI AR
YA® H I3 b wa fHhy |
Pad 3 Sl 7 R 9 99 Ih U

fPU) N 7 d9a 1 B3 4 o9 3@

(b) M T fhy | DT O A P 3R M B 3l

(4 Q

o 49 37 wd ey au f®
3w fham ura fHhe?



Six persons, P, Q, R, S, T and U
travelled in different months of
the same year viz. January,
February, March, July,
September and December.

R travelled in September. Only
one person travelled between R
and T. No one travelled between
U and P. P travelled in a month
after U. More than two people
travelled between P and S. Who
among them travel n July?

Bg &R, P, Q, R, S, TR U 7 &
g 9y & faf= =8 d = @)
fagax |



RARGRAITNM AN RIRT &
§9 ®ad TP &R o IJET B U
IR P & &9 fbdl 7 I=m 7T&l DI | P
AU D 9% UH Ha A IrET DI | P
IR S & & o1 ¥ AWd A A
gl B | S99 | e Sers | A
HY?

(a) T 1 Q

(c) P (d) S

@



Select the option that represents
the letters that, when placed
from left ot right in the same
sequence in the blanks below,
will complete the letter series.

E IN D

SS9 fAdey &7 TI9 HX Ol S ER
&I guiar &, fore -id R W= o
TEE HH H 91U 9 §IU 7@ TR &R

ST [ B G | @
EIND

(a) HPG (b) JUO

(c) FSO \Jdr(lm



If DONS is related to PQW 13 in a
certain way. In the same way,

CQX6 is related to ZSX 43. To
which of the following is TXN 4

related following the same logic?

Ife DON3 & fAf¥ad a¥ld & PQW
13 § Haftd g1 S UPR, CQX6
ZSX 43 ¥ Hdfrd 8| 9HE @ &
ma?raﬂ%r'g":{'rxmclﬁﬁﬁrrﬁaaﬁ

2G21 (b) PZG19
(c) PYG19 @ (d) PZE21



Three of the following four words
are alike in a certain way and
one is different. Pick the odd one
out

freferfad aR wssi & @ 99 S
fAf¥ea o | w9E § 3R e A=
%Imﬁﬁﬂﬁl /W

o M (a) GMANO JSAIMNE
___(c) RANOEG (d) AABANN

ORmug(— N Rayor®



(a)

(b)

(c)

> (

(N N

<

M oo oD

Out of the given options, three
are similar in a certain manner.
However one option is not like
the other three. Select the
option which is difference from
the rest.

fer T el & ¥ 99 @ Af=a
e | 9 B | galied ($ fdded
F 9 o T8l 8| S9 fdde &
T B O qifpal | A 2

\o



V |[QA|l: [P All*x%x |+ A
+ | %% || * 0 Q | A
<L 30 AC
4
.-)-

(b)

Which figure follows next in this

pattern ?

Problem figure:

9 UeA # 3rTem R i «r 87
9T =7
% i 1y 9. * A

\ AR
x |2A
v B 1y

v

Fig

Q A

(d)




3 %_____.Qo\\bl - 3
-2

In a certain code language, ‘TAN’
is written as ‘33’ and ‘PAM’ is
written as ‘28’. What will be the
code for ‘GUN’?

vd fAfEd g Wi # ‘TAN’ @
‘33’ 3R ‘PAM’ HI 28’ forar wram
2| ‘GUN’ & forg @ Fa1 grm?

(a) 18 (b) 42

(c) 12 (gY40



Select the figure from among the
? given options that can replace

the question mark (?) in the

W following series.
feg T fapeal § | SH Pl &1

o994 B o ffafad gaen 9 g
fre (?) &1 ufoeenfia &% 9 |

@ mo AU}/O a

] O,p/’? o'
O A O A




Select the figure from among the
given option that can replace the

B x# |
X . ()
L
.
BT |
i
(b) 1 (d) N(
* *

? question mark (?) in the
following?

_x_

e W fapei § 9 SH Pl F
g9 R o fAefefaa # g e
(?) @ wfoenfia &) a&ar 87




SH  mPfd
Preferaa siaen & ot st |

Select the figure that will come
next in following series.

B YA B O

(c)

(d)




Each of students, D, F, G, H, S, T
and V has an exam on a different

day of a week starting from

F’ Monday and ending on Sunday of

— the same week but not

D D

pm—

f:

D
9

necessarily in the same order.

G)'s exam is on the day

immediately before G's exam) V's
exam is on the day immediately
after T's exam. Only one student
has exam between D and F. V's
exam is on Wednesday and H's
exam is on Friday. F's exam is
neither on Monday nor on
Saturday. Who has exam on

Thursday?



T

(c) V

Y% BEU D, F, G, H, S, T 3R V
B T I9E B TP JT e W
Bl 8 Ol 9FaR | S 81 8 SR
9X GWE ® fAGR DI GHIT BT 8
ofh T wTel fb S0 B9 § 81| D
@ TET G B e ¥ 3P e oA
TSl 8| V @ TR T B Wenr
b Tl RA BI D IR F & o9
®ad Uh BIF I Wem 8| v B
W& §UEAR B 8 AR H B IR
YHAR B B F D wEm T @

b G R & ¢ ok 7 & FER @
(d) D AR PI fHaa wer 87



Select the option that is related
to the fifth number in the same
way as the second number is
related to the first number, the
fourth number is relatQE to the

thtﬂipumberq )
15 23 25(—\ 4::624:7

99 fddeq &7 999 & S Uigd |e%
H S PR Hedd B O TENT AN
Ugel Fe} o Getd g, AT He} N
J9R 9§ qaferd 2|
15:2::255:4:624:7

(a) 3 E /@
(c) 9 (d) 8



P, Q, R, S, T, U and V live on
seven different floors of the same
building. The lowermost floor in
the building is numbered 1, the
floor above it is number 2, and so
on till the topmost floor is

m—,

—

-*r
1

numbered 7. Q lives floor number
2. R lives on the floor
immediately above U’s floors. S
is on the floor immediately below
V’s floor. Only three persons live

between the floors of T and P. R
lives on the topmost floor. Only

"'l_ one person lives between the R

and P. on which floor doe

live?

—



(a) Floor 4
(c) Floor 3

P, Q,R, S, T, U 3R V U® & FHARA
@ GId T3 HfSTl W 8
2] SARd ¥ 9ew el wforer &
HHID 1 & SUD HUX B AT BT
HHH 2 B AR T ORE IE9 SR
AT &1 HHIP 7 8| Q vt HHI®
2 W IEAT 8| R, U &I dfial @ S
SR qroil ATl R BT 81 S, V I
AT @ e A aren Hfoter W 2
T 3R P &I wforall & €9 dad dF
&fth WEd 8| R 999 S 6@t )
WA 28| RIARN P & WSl & dF

AWTFloor 8 oo v wifts wser &1 P T R
(d) Floor 2 o waar 27



Select the correct combination
of mathematical signs that can
sequentially replace * to balance
the following equation.

20*4*6*2*14*18
frfelRad TiieRoT @1 Hgferd &
®» fou O R & S99 9d
GAISH BT I99 BX ol * B HAD
Y | ufoenfid &R 9 |

20%4*6*2*14*18

)< (a) +, =, +, X, +



Avina has tuitions for six
subjects - Math’s, English,
Computer  Science, Physics,
Biology and Chemistry, each on a
different day of a week from
Monday and ending on Saturday
of the same week, but not
necessarily in this order. Only
three subject tuitions are
scheduled between computer
science and physics tuitions.
Only chemistry tuition is
scheduled between Maths and
English tuitions. Biology tuition
is on Monday, Physics tuition is
on the day immediately after the
Maths tuition which is on Friday.
Which  subject’s tuition is
scheduled on Wednesday?



(a) Physics
(c) Chemistry

g & U ®vE fawdl — wfe,
Siafas« IR g fAs= @ forg
&RM 8 Td® 9WaR ¥ TS 99rg
@ A3 o R I gaE @
YMaR B FHATG BIdT 8, olfd oo
T8 & s 9 # 8| dYgex =
IR At =R & 99 dIa I
fivg o=m fuiRa &) e ik
FUGH =P & d1d Pl THIGA
fsm = fuiRa 81 e fasm
@ SRFE GEER D B, A @
SEE TG @ S P P 3FT

(b) Biology fx7 § ot ywAR B & TR A

\yéngnsh e vy & cgeM FeiRa 82



Find the missing term in the
given series

14, 84, 89, 3567

A T HGA H I IS FId DI
14, 84, 89, 356 ?
(a) 712 (b) 361

b[p)ﬂg (d) 571



Four letter- clusters pairs have
been given out of which three are

alike in same manner and one is
different. Select the one that is

), N S %LC different

= IR JER—uqg oie fau 71w § oA
qA 0 TP o € R T 3T B
S o & IR

V(CEEC (a) CONS : TOPDUD
% MMITEB NJKJCES @
%g b( (c) IMPORTANT PQNJSSMZS
(d) SUCCEED : DVTDCDD



1D 02 . 8:41 2 127
(a) 611 (b) 67
(c) 42 (d) 49



Study the given letter, number,
symbol series and answer the
question that follow

T%4A*MS$3U = L 1@}&3E57Q81§
) ¢

__.-—-‘
Find out the total number of

symbols that are immediately
preceded by a number and
immediately followed by a letter,
also their sum is divided by 4.

feg U R, HeEm, whe gaEar &
AT PN AR TUD 1 A AT
Y99 PT IR <



T%4A*M$3U = L 8aX&3E57QS13
' G
TS e B G G S P
e 81 Ugel Ta HE&T & 3R dl@
91 U% &R ©, 9T & SHdTl AT 4

9 fawifora 21
(a) 4 (b) 2

\/M"l (d) 3

©




